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1. 717 Al D 7] 8,966 8,966 0
2.0 HA g AFA st 4,560 4,560 0
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1.AF4as 2,300 2,300 0
1.9 Rk=8-] 2,300 2,300 0
PR 2,260 2,260 0
1.535349 2,260 2,260 0
1. a4 Q51 1,060 1,060 0
2. 4RkQ - Fxn 1,200 1,200 0
2. 394 oA0E A 0 0 0
1. dukg] -3 31n 0 0 0
2. FAEA /WG AR} F & 347,718| 352,313 -4,595
1.9 & 112,347 119,842 -7,495
1.8 3489 112,347 119,842 -7,495
1.z kel 200 200 0
1.5 71 A 22 2121 H] 200 200 0
2.28997n 200 200 0
1.5 71 A 22 9121 H] 200 200 0
3.3 A BTN 95,034| 95,034 0
1.2 82 A 51 95,034 95,034 0
4.5 A 617 8,112 -7,495
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1. 4981 6,574 6,574 0
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2. 980 3,070 3,070 0
3. HFE T 5,596 5,596 0
6.t A1 72 M| 1,056 1,056 0
1.717HA 2 4 172 1,056 1,056 0
2. 83743 26,899 23,999 2,900
1[Za st w2 w A kA e 22,406 19,980 2,426
1.7 AL 100 100 0
1.8 A E A H) 100 100 0
2. A7 A 908 1,508 -600
1.8 B A1 908 1,508 -600(13d AZAAF 1 -600,0009%13] = -600,000
3. 54429 5,475 4,825 650
1.8949 700 650 50 | ZAFE) (%) © 50,0009 %1853 #13]= 50,000
2. 0 H P EAH| 0 0 0
3. LS 3,400 3,400 0
4.3 B H) 1,225 625 600 | O] SFERARETY 1 2,000 +1508 23] = 600,000
5. 8] F 4] 150 150 0
4. 5] EFAdy 2 FARASI03¢9 1] 1,030 0
1.8+95% 300 300 0
2. W& 2G| 700 700 0
3. HAAII A F-F371] 30 30 0
5. 7F 1w gk 21 5 of 4t 14,043 11,667 2,376
o1 ez e sty e} elAn] 2] x9m
171704 4 991 70 ) 12,567 10,670) 1,897 ﬂ"j%" R AH - 833,5008278x1 1,667,000
HJ%%%E—%”] Eoi7n] ¢ 115,000 %21 230,000
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ekl S N R o e A o I
) 70,000
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2.3t 3k 9 A e 4,493 4,019 474
1. H =83 2,899 2,425 474
1. gduk4n) 2,899 2,425 474\ A58 ABS 79,0009 67) L= 474,000
2. 371454 393 393 0
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1.7]17HA 2 991 7 n) 1,201 1,201 0
3.3 5 208,472| 208,472 0
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= ?xﬂ% AEET 3 AEH]) @ 537,000 537000
%13]=
=AY A= 2 AsH 12,0009
’ 828,000
#13]+69™ =
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A AGA D (A 2 A 10,0009 1,330,000
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3. U E T 4,814 4,814 0
37184 usEE 60,676 51,701 8,975
1.3 3% 22,711 21,711 1,000
1. AT E Y 3,734 3,734 0
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4. 987 Wy 235,672| 394,047 -158,375
1.3t &9 110,331 289,920 -179,589
1453t 8- 110,331 289,920 -179,589
1.E7| A4 s 110,331 289,920 -179,589
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3,980 905 3,600  -2,695| =AZFAAVEE ¢ -2,695,0009 %13]= -2.,695,000
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6. 5--FH 30,591 111,600 -81,009| w)3]%%1H] : -30,000,00013]= 30,000,000
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FHEF 9 Ay ¢ -30,000,0009+13]= -30,000,000
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2.548% 5,800 6,700 -900
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1.247¢ 5,600 5,900 -300
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3. 17 %A 119,241 97,127| 22,114
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2.9H] 500 500 0
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2. 7130214 L 4 2,289 2,289 0
4. ()AL EHAEX 39,577 18,663 20,914
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(AEA_4F)7FE5T ¢ 1,320,0009 %12 = 1,320,000
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1. 052G A 11,000 11,000 0
6. [ L] (F 1) A503] =2 d A S o 8, 48071 = 84ad ) =4 Ho
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1LASASANA 400 400 0
1.8 EF794H] 400 400 0
.8 221,293 202,055 19,238
49 102,576 88,245 14,331
A7) -3 31,894 29,423 2,471
1. 072 4,404 4,404 0
1.gukd 5 1,260 1,260 0| EAA 23] 1 50,0009#13]= 50,000
H 2 YAMEETY ¢ -50,00099%13]= -50,000
2. AT JFT 3,144 3,144 0
2. 9429 25,590 23,119 2,471
1. g Rk=8H 11,324 11,324 0
2. 7181 gF 8 200 200 0
3,094 10,295 10,295 0
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3.9 1,900 1,900 0
1. g RkE8H 500 500 0
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